DU BA Honours Humanities N Social Sciences

Topic:- DU_J19_BA_HSS_T1_Q1 to 75_Compulsory

1) Complete the series.
120, 99, 80, 63, 48, ? [Question ID = 13873]

1. 38 [Option ID = 25490]
2. 35 [Option ID = 25489]
3. 39 [Option ID = 25491]
4. 40 [Option ID = 25492]

Correct Answer :-
« 35 [Option ID = 25489]

2) Which of the following statement regarding Carbon Sink is not true?
[Question ID = 13849]

1. Ocean can act as carbon sink, [Option ID = 25396]

2. A carbon sink accumulates and stores carbon compound for an indefinite period. [Option ID = 25393]
3. A carbon sink can be a natural or artificial reservoir. [Option ID = 25394]

4, Soil cannot act as a carbon sink. [Option ID = 25395]

Correct Answer :-
» Soil cannot act as a carbon sink. [Option ID = 25395]

3) Which of the following statement/s is/are part of the Moral Code of Conduct during elections in India?
i. Candidates are asked to refrain from distributing liquor to voters.

ii. The election campaign rallies and road shows must not hinder the road traffic.

iil. Government bodies may continue recruitment process during the elections.

[Question ID = 13888]

1. Only ii and iii [Option ID = 25550]
2. Only i and iii [Option ID = 25551]
3. Only i and ii [Option ID = 25549]
4. All of these [Option ID = 25552]

Correct Answer :-
* Onlyiand ii [Option ID = 25549]

4) Which of the following is part of the Parliament news coverage?
[Question ID = 13884]

1. Calling attention [Option ID = 25533]

2. Proceedings [Option ID = 25534]

3. Zero-hour mentions [Option ID = 25535]
4. All of the above [Option ID = 25536]

Correct Answer :-
« All of the above [Option ID = 25536]

5) Which of the following is true about Arunachalam Muruganantham?
i. He is a social entrepreneur from Arunachal Pradesh.
ii. He is known for invention of low-cost sanitary pad making machine.
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[Question ID = 13833]

1. Both i and ii [Option ID = 25331]
2. Neither i nor ii [Option ID = 25332]
3. Only ii [Option ID = 25330]

4. Only i [Option ID = 25329]

Correct Answer :-
¢ Only ii [Option ID = 25330]

6) Which of the following means perpetuate cyber crime?
[Question ID = 13892]

1. Anonymity [Option ID = 25566]

2. Accessibility [Option ID = 25567]

3. Action at distance [Option ID = 25565]
4, All of these [Option ID = 25568]

Correct Answer :-
« All of these [Option ID = 25568]

7) Which of the following is not a Tulip Garden?
[Question ID = 13867]

1. Himalayan Tulip Garden, Gulmarg [Option ID = 25467]

2. Indira Gandhi Tulip Garden, Srinagar [Option ID = 25465]

3. Mughal Gardens in Rashtrapati Bhawan, Delhi [Option ID = 25466]
4. Tulip Garden in Craignano Nature Park, Shimla [Option ID = 25468]

Correct Answer :-
« Himalayan Tulip Garden, Gulmarg [Option ID = 25467]

8) A thought process or method used to generate creative ideas by exploring many possible solutions is known as
[Question ID = 13832]

1. Original thinking [Option ID = 25328]

2. Divergent thinking [Option ID = 25325]
3. Conceptual thinking [Option ID = 25326]
4, Convergent thinking [Option ID = 25327]

Correct Answer :-
« Divergent thinking [Option ID = 25325]

9) A man pointing to a lady said, “the son of her only brother is the brother of my wife.” The lady is related to the
man as . [Question ID = 13872]

1. Mother’s sister. [Option ID = 25485]

2. Sister of father-in-law. [Option ID = 25488]
3. Mother-in-law. [Option ID = 25487]

4. Grandmother. [Option ID = 25486]

Correct Answer :-
« Sister of father-in-law. [Option ID = 25488]

10) When is it appropriate to talk negatively about someone?
[Question ID = 13891]

1. Ignore everything. [Option ID = 25563]
2. In front of that person. [Option ID = 25562]
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3. In the privacy of our homes. [Option ID = 25561]
4. None of these [Option ID = 25564]

Correct Answer :-
» None of these [Option ID = 25564]

11) A smartphone is a combination of functionality of a telephone, a camera, a music player, a digital personal
assistant etc. into one device. This is an example of . [Question ID = 13834]

1. Technology convergence [Option ID = 25334]
2. Technology diversification [Option ID = 25333]
3. Technological integration [Option ID = 25336]
4, Technological determinism [Option ID = 25335]

Correct Answer :-
« Technology convergence [Option ID = 25334]

12) Pune receives much lesser rainfall as compared to Mumbai because ‘

[Question ID = 13861]

1. it is located on the windward side of Western Ghats. [Option ID = 25441]
2. it lies in the leeward side of Western Ghats. [Option ID = 25442]

3. of continentality. [Option ID = 25443]

4, distance from the sea. [Option ID = 25444]

Correct Answer :-
« it lies in the leeward side of Western Ghats. [Option ID = 25442]

13) Bhupen Hazarika, who was awarded with the Bharat Ratna recently, is popularly known as . [Question
ID = 13858]

1. Bard of Assam [Option ID = 25430]

2. Bard of Brahmaputra [Option ID = 25429]
3. Bard of Northeast [Option ID = 25431]

4. Bard of India [Option ID = 25432]

Correct Answer :-
« Bard of Brahmaputra [Option ID = 25429]

14) Socially and culturally less powerful people are by mass media. [Question ID = 13883]

1. counselled [Option ID = 25530]

2. stereotyped [Option ID = 25532]
3. supplemented [Option ID = 25529]
4. derecognised [Option ID = 25531]

Correct Answer :-
» stereotyped [Option ID = 25532]

15) According to the Indian Constitution, the two houses of parliament must be summoned by the President at
least . [Question ID = 13889]

1. Four times a year. [Option ID = 25556]
2. Twice a year. [Option ID = 25554]
3. Thrice a year. [Option ID = 25555]
4. Once a year. [Option ID = 25553]

Correct Answer :-
» Twice a year, [Option ID = 25554]

16) A web page is .
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[Question ID = 13839]

1. Made up of text and HTML tags [Option ID = 25353]

2. All of these [Option ID = 25356]

3. Marked by a closing HTML tag </HTML> [Option ID = 25355]
4, Marked by an opening HTML tag <HTML> [Option ID = 25354]

Correct Answer :-
« All of these [Option ID = 25356]

17) Exploitation of labour is said to exist when___.
[Question ID = 13852]

1. Marginal Revenue Product = 0. [Option ID = 25408]

2. wage < marginal revenue product. [Option ID = 25406 ]
3. wage = Marginal Revenue Product. [Option ID = 25405]
4. wage > Marginal Revenue Product. [Option ID = 25407]

Correct Answer :-
« wage < marginal revenue product. [Option ID = 25406]

18) 1f 9th of the month falls on the day preceding Sunday, then on what day will 1st of the month fall?
[Question ID = 13878]

1. Saturday [Option ID = 25510]
2. Monday [Option ID = 25509]
3. Friday [Option ID = 25511]

4. Tuesday [Option ID = 25512]

Correct Answer :-
+ Friday [Option ID = 25511]

19) The first lion safari of Rajasthan has come up at the . [Question ID = 13857]

1. Keoladeo National Park. [Option ID = 25427]

2. Ranthambore National Park. [Option ID = 25426]
3. Nahargarh Biological Park. [Option ID = 25425]
4. Sariska National Park. [Option ID = 25428]

Correct Answer :-
« Nahargarh Biological Park. [Option ID = 25425]

20) Which type of communication has new media facilitated? [Question ID = 13880]

1. Public [Option ID = 25519]

2. Abstract [Option ID = 25517]

3. Interactive [Option ID = 25520]
4, Conceptual [Option ID = 25518]

Correct Answer :-
« Interactive [Option ID = 25520]

21) Find the odd one out. [Question ID = 13874]

1. Needle [Option ID = 25453]
2. Nail [Option ID = 25495]

3. Screw [Option ID = 25494]
4. Hammer [Option ID = 25496]

Correct Answer :-
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« Hammer [Option ID = 25496]

22) Defining what is right and wrong for an individual or a community is___. [Question ID = 13893]

1. Values [Option ID = 25569]
2. Ethics [Option ID = 25571]
3. Morality [Option ID = 25570]
4, Attitudes [Option ID = 25572]

Correct Answer :-
« Ethics [Option ID = 25571]

23) NITI Ayog has framed a ‘National Strategy for Artificial Intelligence’. The main objective of the strategy is
. [Question ID = 13835]

1. Al for Security [Option ID = 25339]

2. Al for Environment [Option ID = 25340]
3. Al for all [Option ID = 25337]

4, Al for India [Option ID = 25338]

Correct Answer :-
« Al for all [Option ID = 25337]

24) The only existing account of the early years of Zoroastrian refugees in India is . [Question ID = 13868]

1. Ain-i-Akbari [Option ID = 25471]
2. Rajatarangini [Option ID = 25470]
3. Qissa-i Sanjan [Option ID = 25469]
4. Qissa-i Parsi [Option ID = 25472]

Correct Answer :-
» Qissa-i Sanjan [Option ID = 25469]

25) India’s largest start-up ecosystem, known as Integrated Startup Complex (ISC), has been launched in which
of the following state? [Question ID = 13855]

1. Kerala [Option ID = 25419]

2. Punjab [Option ID = 25420]

3. Tamil Nadu [Option ID = 25417]
4. Rajasthan [Option ID = 25418]

Correct Answer :-
« Kerala [Option ID = 25419]

26) Ramesh walks 20 m North and turns right to walk 30 m. He then walks 35 m towards his right, makes a left
turn and walks 15 m. Finally he turns left and walks 15 m. The shortest distance between his original position and
final one is____. [Question ID = 13876]

1. 45 m [Option ID = 25504]
2. 65 m [Option ID = 25501]
3. 55 m [Option ID = 25502]
4. 40 m [Option ID = 25503]

Correct Answer :-
« 45 m [Option ID = 25504]

27) Ali buys a glass, a pencil box and a cup and pays Rs. 21 to the shopkeeper. Rakesh buys a cup, two pencil
boxes and a glass and pays Rs. 28 to the shopkeeper. Preeti buys two glasses, a cup and two pencil boxes and pays
Rs. 35 to the shopkeeper. The cost of 10 cups will be___. [Question ID = 13871]

1. Rs. 80 [Option ID = 25483]
2. Rs. 70 [Option ID = 25484]
3. Rs. 40 [Option ID = 25481]
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4. Rs. 60 [Option ID = 25482]

Correct Answer :-
* Rs. 70 [Option ID = 25484]

28) Increasing unemployment and inflation is a situation of ____. [Question ID = 13851]

1. reflation. [Option ID = 25404]

2. galloping inflation. [Option ID = 25402]
3. hyperinflation. [Option ID = 25401]

4. stagflation. [Option ID = 25403]

Correct Answer :-
« stagflation. [Option ID = 25403]

29) Arrange the following events/movements in the correct order of their chronology.
i. Rowlatt Act Satyagraha

ii. Civil Disobedience Movement

iii. Boycott of Simon Commission

iv. Quit India Movement [Question ID = 13866]

i-ii-iii-iv [Option ID = 25461]
i-iii-ii-iv [Option ID = 25462]
ii-iii-iv-i [Option ID = 25463]
ii-iii-iv-i [Option ID = 25464]

-l o

Correct Answer :-
« i-iii-ii-iv [Option ID = 25462]

30) Which of the following blood groups can be transfused to a patient of any blood group? [Question ID = 13843]

1. AB Rh-D positive [Option ID = 25371]
2. AB Rh-D negative [Option ID = 25372]
3. O Rh-D positive [Option ID = 25369]
4. O Rh-D negative [Option ID = 25370]

Correct Answer :-
* O Rh-D negative [Option ID = 25370]

31) Which of the following statement is not true regarding Vitamin C? [Question ID = 13842]

1. Vitamin C is a water-soluble vitamin [Option ID = 25368]

2. Vitamin C also acts as an antioxidant. [Option ID = 25366]

3. All vitamins, except Vitamin C, are produced in the human body. [Option ID = 25365]
4. Scurvy is caused by the deficiency of Vitamin C [Option ID = 25367]

Correct Answer :-
« All vitamins, except Vitamin C, are produced in the human body. [Option ID = 25365]

32) Which of the following groups of metals are required in maximum quantities in living organisms? [Question ID
= 13841]

1. Sodium, Magnesium, Copper, Manganese [Option ID = 25364]

2. Potassium, Sodium, Magnesium, Calcium [Option ID = 25363]

3. Potassium, Manganese, Molybdenum, Calcium [Option ID = 25361]
4. Potassium, Molybdenum, Copper, Calcium [Option ID = 25362]

Correct Answer :-
« Potassium, Sodium, Magnesium, Calcium [Option ID = 25363]

33) Which of the following is not a ‘hereditary’ disease? [Question ID = 13844]

1. Haemophilia [Option ID = 25375] .
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2. Sickle cell anaemia [Option ID = 25373]
3. Colour-blindness [Option ID = 25374]
4. Leukaemia [Option ID = 25376]

Correct Answer :-
« Leukaemia [Option ID = 25376]

34) Match the following:

i. Article 19(1) (a) a. right to reside and settle in any part of the country

ii. Article 19(1) (c) b. right to form associations or union

iii. Article 19(1) (e) c. freedom of speech and expression

iv. Article 19(1) (t) d. right to practice any profession, or carry on any occupation, business or trade

[Question ID = 13885]

1.i-c;ii-b;iii - a; iv-d[Option ID = 25537]
2.i-d; i -c;iii - a; iv—b [Option ID = 25540]
3.1 -b; ii-a;iii - d; iv-c[Option ID = 25539]
4.i-a;ii-d;iii-c; iv-b[Option ID = 25538]

Correct Answer :-

e i-c;ii-b;iii - a; iv-d[Option ID = 25537]

35) Match the following types of winds.

i. Chinook a. Warm and dry winds on leeward sides of mountains
ii. Loo b. Hot dry summer winds of Indian subcontinent
iii. Fohn c. Known as ice-eater

[Question ID = 13864]

1.i-¢; ii - a; iii - b [Option ID = 25456]
2.i-c; ii - b; i - a [Option ID = 25454]
3.i-b; ii - ¢ iii - a [Option ID = 25455]
4. - a; ii - b; iii - ¢ [Option ID = 25453]

Correct Answer :-

e i-c;ii-b;iii - a [Option ID = 25454]

36) Match the following tribes with their indigenous states of India.

i. Bhils a. Madhya Pradesh
ii. Khasi b. Meghalaya

iii. Chang c. Nagaland

iv. Chenchus d. Andhra Pradesh

Choose the correct option.
[Question ID = 13860]

1.i-c;ii-d;iii - b; iv-a[Option ID = 25438]
2.i-d;ii-a;iii - b; iv-c[Option ID = 25439]
3.i-b;ii-c;iii - a; iv - d [Option ID = 25437]
4.i-a;ii-b;iii-c; iv-d[Option ID = 25440]

Correct Answer :-

e i-a;ii-b;iii - ¢ iv - d [Option ID = 25440]

37) Match the following schools of thought with their core idea/s and choose the correct option.

i. Constructionism a. purpose & process of consciousness & behaviour

ii. Functionalism b. the ability to grow and realize inner potential

iiil. Humanism c. organization of perceptual experiences

iv. Structuralism d. human mind develops through social & cultural processes

[Question ID = 13896] collegedunia;_
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i -c;ii-b;iii -d; iv-a [Option ID = 25584]
i -d; ii-a;iii-b; iv-c[Option ID = 25583]
i - b; ii - ¢ iii - a; iv-d [Option ID = 25581]
i-a;ii-b;iii-c; iv-d[Option ID = 25582]

e ol o

Correct Answer :-
e i-d;ii-a;iii - b; iv-c[Option ID = 25583]

38) Match the following political systems with the countries associated with them.

i. Constitutionally decentralized unions a. USA

ii. Indestructible Union with destructible states b. United Kingdom
iii. Confederation ¢. India

iv. Federation d. Switzerland

[Question ID = 13887]

1.i-c¢;ii-b;iii - d; iv-a[Option ID = 25547]
2.1 -d; ii - a; iii - ¢; iv—b [Option ID = 25548]
3.i-b;ii-c;iii-d; iv-a [Option ID = 25545]
4.1 -a; ii-d, iii - b; iv - c [Option ID = 25546]

Correct Answer :-
e i-b;ii-c;iii-d; iv-a[Option ID = 25545]

39) Match the following and choose the correct option.
i. Tests a. association

ii. Experiments b. quantitative data

iii. Correlation c. standardized and objective

iv. Survey d. manipulation and control

[Question ID = 13895]

i - c; ii - d; iii - a; iv- b [Option ID = 25580]
i -d;ii-a;iii-c; iv-b[Option ID = 25578]
i - b; ii-c;iii -d; iv-a [Option ID = 25579]
i - a; ii-b;iii-d; iv-c[Option ID = 25577]

-~ o

Correct Answer :-
e i-¢;ii-d;iii-a;iv-b[Option ID = 25580]

40) Match the following and choose the correct option given below:

i. Sarojini Naidu a. First Woman President of UN General Assembly
ii. Rajkumari Amrit Kaur b. Member of Constituent Assembly

iil. Vijayalakshmi Pandit c. India’s first woman Chief Minister

iv. Sucheta Kriplani d. President of Indian National Congress

[Question ID = 13869]

1.i-c¢;ii-a;iii-b; iv—d [Option ID = 25476]
2.1 -d; ii - b; iii - a; iv - c [Option ID = 25475]
3.i-b;ii-ciii-d;iv-a[Option ID = 25474]
4.i-a;ii-d;iii-c; iv-b[Option ID = 25473]

Correct Answer :-
e i-d;ii-b;iii - a; iv-c[Option ID = 25475]

41) Match the following Psychologists with the basic element/s of their theory.
i. Alfred Adler a. striving for justice and truth

ii. Karen Horney b. archetypes

iii. Carl Jung c. inferiority complex
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iv. Erich Fromm  d. basic anxiety
Choose from the following options

[Question ID = 13899]

i - c; ii-d;iii - b;iv-a[Option ID = 25594]

i -d; ii-b;iii - a; iv-c[Option ID = 25596]
i-b;ii-a;iii-c; iv-d[Option ID = 25595]
i -a;ii-c;iii-d; iv-b [Option ID = 25593]

ol odl et o

Correct Answer :-
e i-c;ii-d;iii - bjiv-a [Option ID = 25594]

42) Match the following

i. Kan-balle a. Punjab

ii. Chonk b. Uttar Pradesh
ili. Thuria c. Assam

iv. Meenakari d. Kashmir

[Question ID = 13903]

i - C;ii-d;iii - a; iv-b [Option ID = 25612]
i-d;ii-a;iii-c;iv-b[Option ID = 25611]
i -b;ii-c;iii -d; iv-a[Option ID = 25610]
i - a; ii - b;iii-c; iv-d[Option ID = 25609]

ol

Correct Answer :-
e i-d;ii-a;iii-c iv-b[Option ID = 25611]

43) Match the regional newspapers with their state of circulation.

i. Mathrubhoomi a. Odisha

il. Dinamalar b. Kerala

iii. Sadhana c. Tamil Nadu
iv. Dharitri d. Gujarat

[Question ID = 13882]

1.i-c;ii-b;iii - a; iv-d [Option ID = 25525]
2.i-d;ii-a;iii - b; iv-c [Option ID = 25526]
3.i-b;ii-c;iii -d; iv-a[Option ID = 25527]
4.i-a;ii-d;iii-c; iv-d [Option ID = 25528]

Correct Answer :-
e i-Db;ii-c;iii - d; iv-a[Option ID = 25527]

44) 1In old age, the degeneration of cartilage is common. Which of the following supplement(s) will help in
healing the above loss? [Question ID = 13840]

1. Albumin alone [Option ID = 25358]

2. Calcium alone [Option ID = 25360]

3. Tendon and calcium [Option ID = 25359]
4. Collagen and calcium [Option ID = 25357]

Correct Answer :-
« Collagen and calcium [Option ID = 25357]

45) Consider the two statements about the Relo Tribe and choose the correct option.
i. The Relo Tribal songs are a musical form practiced by the Muria and Sing Maris tribes of Madhya Pradesh.
ii. The Relo Tribal songs are mostly sung by the children of the tribe. [Question ID = 13902]

1. Both i and ii [Option ID = 25607]
2. Only ii [Option ID = 25606]
3. Only i [Option ID = 25605]
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4. Neither i nor ii [Option ID = 25608]

Correct Answer :-
« Both i and ii [Option ID = 25607]

46) Consider the two statements about the Udaigiri-Khandagiri caves and choose the correct option.
I. These are rock-cut caves having inscriptions of Kharavela kings.
ii. According to the inscriptions, the caves were meant for Buddhist monks. [Question ID = 13900]

1. Both i and ii [Option ID = 25599]
2. Only i [Option ID = 25597]

3. Only ii [Option ID = 25598]

4, Neither i nor ii [Option ID = 25600]

Correct Answer :-
e Only i [Option ID = 25597]

47) Hajong Tribe is indigenous to . [Question ID = 13901]

1. Jharkhand [Option ID = 25602]
2. Meghalaya [Option ID = 25601]
3. Telangana [Option ID = 25604]
4. Nagaland [Option ID = 25603]

Correct Answer :-
+ Meghalaya [Option ID = 25601]

48) G-77 summit is a forum for__. [Question ID = 13853]

1. East-West Cooperation. [Option ID = 25410]

2. South-South Cooperation. [Option ID = 25411]
3. North-North cooperation. [Option ID = 25412]
4. North-South Cooperation. [Option ID = 25409]

Correct Answer :-
« South-South Cooperation. [Option ID = 25411]

49) The dissemination of information (usually via internet, radio, newspaper, or television) to a target audience is
called___. [Question ID = 13881]

1. Broadcasting. [Option ID = 25522]
2. Tele-casting [Option ID = 25524]

3. Web casting. [Option ID = 25523]

4. Narrow casting. [Option ID = 25521]

Correct Answer :-
« Narrow casting. [Option ID = 25521]

50) ‘KP-Bot' is . [Question ID = 13838]

1. Sub-Inspector ranked Humanoid Robot introduced by Karnataka Police. [Option ID = 25351]
2. SP ranked Humanoid Robot introduced by Karnataka Police. [Option ID = 25352]

3. Sub-Inspector ranked Humanoid Robot introduced by Kerala Police. [Option ID = 25349]

4. Sub-Inspector ranked Humanoid Robot introduced by Kashmir Police. [Option ID = 25350]

Correct Answer :-
« Sub-Inspector ranked Humanoid Robot introduced by Kerala Police. [Option ID = 25349]

51) Which of the following are the characteristics of Big Data?
i. Volume

ii. Variety

iii. Velocity [Question ID = 13836]
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1., ii and iii [Option ID = 25344]

2. Only i and ii [Option ID = 25341]

3. Only ii and iii [Option ID = 25342]
4. Only i and iii [Option ID = 25343]

Correct Answer :-
« i, ii and iii [Option ID = 25344]

52) Which of the following is not a member of the Selection Committe for the appointment of Director, Central
Bureau of Investigation? [Question ID = 13859]

1. Leader of Opposition [Option ID = 25436]
2. President [Option ID = 25434]

3. Prime Minister [Option ID = 25433]

4. Chief Justice of India [Option ID = 25435]

Correct Answer :-
« President [Option ID = 25434]

53) Which of the following is not an important element of ethical behaviour? [Question ID = 13894]

1. Depending on the rational ethical standard taken, we can correctly organize our goals and actions to accomplish life's important
goals. [Option ID = 25576]

2. An action is ethical depending on the consequence of that action. [Option ID = 25573]

3. Any flaw in our ethics will reduce our ability to experience satisfaction in life. [Option ID = 25574]

4. Ethics give us a baseline for understanding the concepts of right and wrong [Option ID = 25575]

Correct Answer :-
« An action is ethical depending on the consequence of that action. [Option ID = 25573]

54) Which of the following is not an important element of Mughal gardens? [Question ID = 13904]

1. Tomb [Option ID = 25615]

2. Canals [Option ID = 25616]

3. Pools [Option ID = 25613]

4. Fountains [Option ID = 25614]

Correct Answer :-
« Tomb [Option ID = 25615]

55) Which of the following is not a peasants’ movement? [Question ID = 13886]

1. Telangana Movement. [Option ID = 25543]
2. Tabligh Movement. [Option ID = 25542]

3. Kheda Movement. [Option ID = 25541]

4. Tebhaga Movement. [Option ID = 25544]

Correct Answer :-
« Tabligh Movement. [Option ID = 25542]

56) Which of the following is not a defense mechanism? [Question ID = 13898]

1. Intellectualization [Option ID = 25592]
2. Fixation [Option ID = 25589]

3. Sublimation [Option ID = 25590]

4. Denial [Option ID = 25591]

Correct Answer :-
« Fixation [Option ID = 25589]

57) Which of the following is not an essential element of giftedness? [Question ID = 13897]

1. High creativity [Option ID = 25586] .
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2. High interest [Option ID = 25587]
3. High ability [Option ID = 25585]
4. High commitment [Option ID = 25588]

Correct Answer :-
« High interest [Option ID = 25587]

58) Which of the following has been declared as a Marine Park for conservation of coral reefs by the Government
of India? [Question ID = 13845]

1. Lakshadweep Islands [Option ID = 25380]
2. Andaman Islands [Option ID = 25378]

3. Gulf of Kutch [Option ID = 25379]

4. Gulf of Mannar [Option ID = 25377]

Correct Answer :-
« Gulf of Kutch [Option ID = 25379]

59) Which of the following item is not included in Environmental Auditing? [Question ID = 13847]

1. Pollution monitoring schemes [Option ID = 25385]

2. Safety provisions for industrial works [Option ID = 25388]
3. Scrutiny by the government agencies [Option ID = 25387]
4, Storage of toxic chemicals [Option ID = 25386]

Correct Answer :-
« Scrutiny by the government agencies [Option ID = 25387]

60) Which of the following statement/s is/are true?
i. Mango showers refers to the pre-monsoon rainfall.
ii. These showers help in early ripening of mangoes. [Question ID = 13862]

1. Both i and ii [Option ID = 25447]
2. Only ii [Option ID = 25446]

3. Only i [Option ID = 25445]

4. Neither i nor ii [Option ID = 25448]

Correct Answer :-
« Both i and ii [Option ID = 25447]

61) Which of the following statement/s is/are correct?

I. According to the 2018 UNDP report, India was ranked 130th in Human Development Index (HDI) out of 188
countries.

ii. According to 2018 report of UN Sustainable Development Solutions Network, India was ranked 133rd in World
Happiness Index out of 156 countries.

iii. According to 2018 report by UNDP, India was ranked 125th in Gender Inequality Index out of 188 countries.
[Question ID = 13856]

1. All of the above [Option ID = 25424]
2. Only i and iii [Option ID = 25421]

3. Only ii and iii [Option ID = 25422]

4. Only i and ii [Option ID = 25423]

Correct Answer :-
« Only iand ii [Option ID = 25423]

62) Which of the following statement/s is/are correct?

i. The major constituent mineral of granite is quartz.

ii. The major consituent mineral of sandstone if feldspar.

iii. The major constituent mineral of limestone rock is dolomite. [Question ID = 13863]

1. i and ii only [Option ID = 25451]
2. All of the above [Option ID = 25452]

collegedunia:s

India’s largest Student Review Platform




3. ii and iii only [Option ID = 25449]
4. iii only [Option ID = 25450]

Correct Answer :-
« All of the above [Option ID = 25452]

63) Which of the following alternatives bears the same relationship?
Malaria : Mosquito :: ? : ? [Question ID = 13870]

1. Chickenpox : Fungi [Option ID = 25480]
2. Plague : Bacteria [Option ID = 25479]
3. Dengue : Virus [Option ID = 25477]

4, Cholera : Water [Option ID = 25478]

Correct Answer :-
« Cholera : Water [Option ID = 25478]

64) Which of the following is the very first prerequisite for formation of a startup? [Question ID = 13830]

1. Brain storming [Option ID = 25318]

2. Problem inventory analysis [Option ID = 25319]
3. Focus group [Option ID = 25317]

4. Reverse brainstorming [Option ID = 25320]

Correct Answer :-
» Focus group [Option ID = 25317]

65) Six persons are sitting in a circle facing the center of the circle. Parikh is between Babita and Narendra. Asha
is between Chitra and Pankaj. Chitra is to the immediate left of ___. [Question ID = 13875]

1. Narendra [Option ID = 25499]
2. Parikh [Option ID = 25497]
3. Chitra [Option ID = 25500]
4. Pankaj [Option ID = 25498]

Correct Answer :-
« Narendra [Option ID = 25499]

66) Which of the following is not an example of social innovation? [Question ID = 13831]

1. Mitti Cool — a refrigerator made entirely of mud [Option ID = 25323]
2. Swachh Bharat Abhiyan [Option ID = 25321]

3. Nano nutrient — to enhance crop production [Option ID = 25324]

4. Handing out cycles to rural poor [Option ID = 25322]

Correct Answer :-
« Handing out cycles to rural poor [Option ID = 25322]

67) Which of the following is not a social networking site? [Question ID = 13837]

1. Classmates [Option ID = 25346]
2. Snapdragon [Option ID = 25348]
3. Tumblr [Option ID = 25345]

4. ReverbNation [Option ID = 25347]

Correct Answer :-
« Snapdragon [Option ID = 25348]

68) Present ages of Sonu and Akshay are in the ratio of 5 : 4 respectively. Three years later, the ratio of their ages
will become 11 : 9 respectively. What is Akshay’s present age in years? [Question ID = 13877]

1. 24 [Option ID = 25507]
2. 27 [Option ID = 25508] )
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3. 25 [Option ID = 25506]
4. 26 [Option ID = 25505]

Correct Answer :-
« 24 [Option ID = 25507]

69) The pair of geographical areas in India having maximum biodiversity is . [Question ID = 13848]

1. Eastern Ghats and Western Ghats [Option ID = 25392]

2. Eastern Himalayas and Western Ghats [Option ID = 25390]
3. Eastern Ghats and Rann of Kutch [Option ID = 25389]

4. Sunderbans and Rann of Kutch [Option ID = 25391]

Correct Answer :-
» Eastern Himalayas and Western Ghats [Option ID = 25390]

70) Rahul is your best friend since childhood. He has been your greatest confidante who has been with you

through all your joys and sufferings. Both of you are in your 12t standard and while writing your Board exams,
you notice that your best friend is copying and cheating. You will . [Question ID = 13890]

1. Wait until the exam gets over and then confront him. [Option ID = 25558]
2. Inform the invigilators on duty. [Option ID = 25557]

3. Inform his parents. [Option ID = 25560]

4, Stop talking to him. [Option ID = 25559]

Correct Answer :-
« Inform the invigilators on duty. [Option ID = 25557]

71) Which is true for the Konark Sun Temple?

i. It has a chariot shape.

ii. It is also known as Black Pagoda.

iii. It is attributed to King Narasingha Deva. [Question ID = 13865]

1. ii and iii only [Option ID = 25458]

2. i and iii [Option ID = 25459]

3. All of the above [Option ID = 25460]
4. i and ii only [Option ID = 25457]

Correct Answer :-
« All of the above [Option ID = 25460]

72) Any loan for short duration crops is classified as Non Performing Asset (NPA) when the installment of principal
or interest thereon remains overdue for crop seasons. [Question ID = 13854]

1. two [Option ID = 25416]
2. four [Option ID = 25413]
3. one [Option ID = 25415]
4. three [Option ID = 25414]

Correct Answer :-
« two [Option ID = 25416]

73) Sam employed 8 workers for 6 hours/day. In total, he paid them Rs. 630 for a week. How much should have
Sam paid 18 workers working 4 hours/day for a week? [Question ID = 13879]

1. Rs. 835 [Option ID = 25516]
2. Rs. 645 [Option ID = 25513]
3. Rs. 725 [Option ID = 25514]
4. Rs. 945 [Option ID = 25515]

Correct Answer :-
* Rs. 945 [Option ID = 25515]

collegedunia:s

India’s largest Student Review Platform




74) The fundamental problem studied in Macro-economics is .
[Question ID = 13850]

1. flow of income. [Option ID = 25398]

2. production of income. [Option ID = 25399]
3. usage of income. [Option ID = 25397]

4, distribution of income. [Option ID = 25400]

Correct Answer :-
« production of income. [Option ID = 25399]

75) The best method for disposal of biodegradable waste is . [Question ID = 13846]

1. vermiculture [Option ID = 25382]
2. landfill [Option ID = 25384]

3. incineration [Option ID = 25383]
4. burning [Option ID = 25381]

Correct Answer :-
« vermiculture [Option ID = 25382]

Topic:- DU_J19_BA_HSS_T2_Eng_Opt

1) A sad song [Question ID = 13906]

1. Dirge [Option ID = 25623]
2. Knell [Option ID = 25622]
3. Ditty [Option ID = 25621]
4. Lay [Option ID = 25624]

Correct Answer :-
« Dirge [Option ID = 25623]

2) Study hard you will fail. [Question ID = 13909]

1. so that [Option ID = 25634]

2. but [Option ID = 25636]

3. if so [Option ID = 25633]

4. otherwise [Option ID = 25635]

Correct Answer :-
« otherwise [Option ID = 25635]

3) Indian government will bring in anti-terror laws. In this sentence, is a normative noun. [Question
ID = 13912]

1. Bring [Option ID = 25645]

2. Anti-terror [Option ID = 25647]
3. Government [Option ID = 25648]
4. Indian [Option ID = 25646]

Correct Answer :-
« Indian [Option ID = 25646]

4) ‘Had she been told me about her problem, I would have helped her.’ In the given sentence replace the incorrect
part with the options given below. [Question ID = 13914]

1. Had she told [Option ID = 25654]

2. Had she have told [Option ID = 25653]

3. If she would have told [Option ID = 25656]
4. If she have told [Option ID = 25655]

collegedunia:s

India’s largest Student Review Platform




Correct Answer :-
* Had she told [Option ID = 25654]

5) Through his hat . [Question ID = 13913]

1. talk nonsense [Option ID = 25649]
2. talk ignorantly [Option ID = 25650]
3. talk wisely [Option ID = 25652]

4. talk insultingly [Option ID = 25651]

Correct Answer :-
« talk nonsense [Option ID = 25649]

6) Our history can be seen / as a long evolutionary dialectical development / in which there have been / a
painstaking forgiving of rational and moral self. Pick the part that has an error. [Question ID = 13915]

1. as a long evolutionary dialectical development [Option ID = 25658]
2. in which there have been [Option ID = 25659]

3. Our history can be seen [Option ID = 25657]

4. a painstaking forgiving of rational and moral self [Option ID = 25660]

Correct Answer :-
« in which there have been [Option ID = 25659]

7) So that (i) / one more (ii) / of sight (iii) / darkness would make (iv) /she says so, (v) / appreciative (vi).
Choose the correct sequence to make a meaningful sentence. [Question ID = 13908]

1. i; iii; ii; iv; vi; v [Option ID = 25629]
2. v; iv; ii; vi; i; iii [Option ID = 25630]
3. v; iy iv; iy vi; iii [Option ID = 25631]
4. iv; ii; vi; i, iii; v [Option ID = 25632]

Correct Answer :-
e v i:iv; iy vi; dii [Option ID = 25631]

8) What can I say about them? They do not keep their words. [Question ID = 13911]

1. What could be said about them by me? Their words are not kept by them. [Option ID = 25642]
2. What can be said about them by me? Their words are not kept by them. [Option ID = 25644]
3. What can said about them by me? Their words are not kept by them. [Option ID = 25641]

4. What can be said about them by me? Their words were not kept by them. [Option ID = 25643]

Correct Answer :-
* What can be said about them by me? Their words are not kept by them. [Option ID = 25644]

9) Adil did not give up the fight even though he was badly hurt. [Question ID = 13910]

1. The fight did not give up by Adil even though he was badly hurt. [Option ID = 25637]

2. The fight was not given up by Adil even though he was badly hurt. [Option ID = 25639]

3. The fight had not been given up by Adil even though he was badly hurt. [Option ID = 25638]

4, The fight was not being given up by Adil even though he was badly bruised. [Option ID = 25640]

Correct Answer :-
« The fight was not given up by Adil even though he was badly hurt. [Option ID = 25639]

10) Despite her best efforts to conceal her pain, . [Question ID = 13907]

1. she could succeed in doing it easily. [Option ID = 25627]

2. I could see that she was delighted. [Option ID = 25625]

3. she failed to give me an impression of her pain. [Option ID = 25626]
4. I came to know that she was hurting. [Option ID = 25628]

Correct Answer :-
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« I came to know that she was hurting. [Option ID = 25628]

Topic:- DU_J19_BA HSS_T3_Eng_Opt

1) Read the following passages and answer the questions that follow.

Television can be very helpful to people who carefully choose the shows that they watch. Television can increase
our knowledge of the outside world; there are high quality programmes that help us to understand many fields of
study, science, medicine, arts and so on. Moreover, television benefits very old people, who cannot often leave the
house as well as patients in hospitals. It also offers non-native speakers the advantage of daily informal language
practice. They can increase their vocabulary and practice listening. On the other hand, there are several serious
disadvantages of television.

Of course, it provides us with a pleasant way to relax and spend our free time, but in some countries, people watch
the 'blood tube’ for an average of six hours or more a day. Many children stare at a television screen for more
hours each day than they do anything else including studying and sleeping. It is clear that the tube has a powerful
influence on their lives and that, its influence is often negative.

Which of the following is not a positive effect of watching television? [Question ID = 13918]

1. Good for patients in hospitals [Option ID = 25672]
2. Good leisure activity [Option ID = 25671]

3. Learning of native language [Option ID = 25670]
4. Increases knowledge [Option ID = 25669]

Correct Answer :-
« Learning of native language [Option ID = 25670]

2) Read the following passages and answer the questions that follow.

Television can be very helpful to people who carefully choose the shows that they watch. Television can increase
our knowledge of the outside world; there are high quality programmes that help us to understand many fields of
study, science, medicine, arts and so on. Moreover, television benefits very old people, who cannot often leave the
house as well as patients in hospitals. It also offers non-native speakers the advantage of daily informal language
practice. They can increase their vocabulary and practice listening. On the other hand, there are several serious
disadvantages of television.

Of course, it provides us with a pleasant way to relax and spend our free time, but in some countries, people watch
the 'blood tube' for an average of six hours or more a day. Many children stare at a television screen for more
hours each day than they do anything else including studying and sleeping. It is clear that the tube has a powerful
influence on their lives and that, its influence is often negative.

Which of the following conclusion can be drawn from the above passage? [Question ID = 13919]

1. Because television increases our knowledge, we must watch television. [Option ID = 25674]

2. Because television watching has many negative effects, one must regulate the hours of watching. [Option ID = 25673]
3. Because old age people and patients need entertainment, television must be provided. [Option ID = 25675]

4, Because television affects our lives in many ways, one must choose content wisely. [Option ID = 25676]

Correct Answer :-
« Because television affects our lives in many ways, one must choose content wisely. [Option ID = 25676]

3) Read the following passages and answer the questions that follow.

Television can be very helpful to people who carefully choose the shows that they watch. Television can increase
our knowledge of the outside world; there are high quality programmes that help us to understand many fields of
study, science, medicine, arts and so on. Moreover, television benefits very old people, who cannot often leave the
house as well as patients in hospitals. It also offers non-native speakers the advantage of daily informal language
practice. They can increase their vocabulary and practice listening. On the other hand, there are several serious
disadvantages of television.

Of course, it provides us with a pleasant way to relax and spend our free time, but in some countries, people watch
the 'blood tube' for an average of six hours or more a day. Many children stare at a television screen for more
hours each day than they do anything else including studying and sleeping. It is clear that the tube has a powerful
influence on their lives and that, its influence is often negative.

The most appropriate title of the above passage is?

[Question ID = 13917]

1. Television influences language learning [Option ID = 25665]
2. Television watching is a leisure activity [Option ID = 25667]
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3. Negative effects of watching Television [Option ID = 25666]
4. None of the above [Option ID = 25668]

Correct Answer :-
» None of the above [Option ID = 25668]

Topic:- DU_J19_BA_HSS_T4 Eng_Opt

1) Read the following passages and answer the questions that follow.

The advent of science is a great blessing to mankind. Science has relieved us of our "age long" ignorance, suffering
and darkness. It has proved itself to be quite an obedient servant at home, in the field and in the factory. It has
transformed our daily life.

Science has made the luxurious items cheap and has brought them within the reach of everybody. Science has
shown every care and concern for our health. It has cured us of many chronic and incurable diseases. It has cured
epidemics like cholera, plague and small pox. Science has made traveling a pleasure. It has conquered time and
distance. The airplanes have completed the work of years in months. Science has lightened the toil of the
homemaker by placing many devices at her/his disposal. Cooking, washing and cleaning are done in the twinkling
of an eye.

But every silver cloud has a dark lining in it. Science too, is no exception to it. Science has caused great havoc. It
has made us idle. The gun powder and destructive weapons of war can prove fatal to the wellbeing of the world. It
has rendered our jobs light but has made our hearts heavy. Lovers of peace denounce science. It has ushered in an
era of disturbance, lawlessness, instability, insecurity and barbarism. It has raised our standard of living on the
foundation of uncertainty.

Which of the following is not a negative consequence of science and technology? [Question ID = 13921]

1. It has led to lawlessness and insecurity. [Option ID = 25684]

2. It has made humans dependent on technology reducing human efforts. [Option ID = 25683]
3. Science has led to the manufacture of destructive weapons. [Option ID = 25681]

4. It has made life easier for the homemaker. [Option ID = 25682]

Correct Answer :-
« It has made life easier for the homemaker. [Option ID = 25682]

2) Read the following passages and answer the questions that follow.

The advent of science is a great blessing to mankind. Science has relieved us of our "age long" ignorance, suffering
and darkness. It has proved itself to be quite an obedient servant at home, in the field and in the factory. It has
transformed our daily life.

Science has made the luxurious items cheap and has brought them within the reach of everybody. Science has
shown every care and concern for our health. It has cured us of many chronic and incurable diseases. It has cured
epidemics like cholera, plague and small pox. Science has made traveling a pleasure. It has conquered time and
distance. The airplanes have completed the work of years in months. Science has lightened the toil of the
homemaker by placing many devices at her/his disposal. Cooking, washing and cleaning are done in the twinkling
of an eye.

But every silver cloud has a dark lining in it. Science too, is no exception to it. Science has caused great havoc. It
has made us idle. The gun powder and destructive weapons of war can prove fatal to the wellbeing of the world. It
has rendered our jobs light but has made our hearts heavy. Lovers of peace denounce science. It has ushered in an
era of disturbance, lawlessness, instability, insecurity and barbarism. It has raised our standard of living on the
foundation of uncertainty.

Which of the following conclusion can be drawn from the passage? [Question ID = 13922]

1. Science has made us idle and ease loving. [Option ID = 25687]

2. Science is the answer to all our problems. [Option ID = 25685]

3. Science has immense benefits but also has negative consequences for mankind. [Option ID = 25688]
4. Because of science, we have great medical treatment. [Option ID = 25686]

Correct Answer :-
« Science has immense benefits but also has negative consequences for mankind. [Option ID = 25688]

3) Read the following passages and answer the questions that follow.
The advent of science is a great blessing to mankind. Science has relieved us of our "age long" ignorance, suffering
and darkness. It has proved itself to be quite an obedient servant at home, in the field and in the factory. It has

transformed our daily life.
Science has made the luxurious items cheap and has brought them within the reach of Evervb&?blwé .
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shown every care and concern for our health. It has cured us of many chronic and incurable diseases. It has cured
epidemics like cholera, plague and small pox. Science has made traveling a pleasure. It has conquered time and
distance. The airplanes have completed the work of years in months. Science has lightened the toil of the
homemaker by placing many devices at her/his disposal. Cooking, washing and cleaning are done in the twinkling
of an eye.

But every silver cloud has a dark lining in it. Science too, is no exception to it. Science has caused great havoc. It
has made us idle. The gun powder and destructive weapons of war can prove fatal to the wellbeing of the world. It
has rendered our jobs light but has made our hearts heavy. Lovers of peace denounce science. It has ushered in an
era of disturbance, lawlessness, instability, insecurity and barbarism. It has raised our standard of living on the
foundation of uncertainty.

Which of the following will be an appropriate title for the given passage? [Question ID = 13923]

1. Science: greatest blessing to mankind [Option ID = 25691]

2. Science is a good servant but a bad master [Option ID = 25689]
3. Science and Technology: boon or bane [Option ID = 25690]

4. The destructive nature of science [Option ID = 25692]

Correct Answer :-
« Science and Technology: boon or bane [Option ID = 25690]

Topic:- DU_J19_BA_HSS_T5_Eng_Opt

1) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of ideas in Europe. It
was described as the liberation of man from self-imposed tutelage. ‘Dare to use your own understanding,’ is the
motto of Enlightenment. Self-thinking was to seek the highest touchstone of truth in one's self, i.e. one's own
reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of philosophical
speculation, but agreed on many fundamental issues. These issues includes placing indomitable faith in the idea of
progress, the need to apply scientific methods, and perceiving reason to be the best guide available in conducting
life. The basic idea underlying all the tendencies of enlightenment was the conviction that human understanding is
capable, by its own power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering it. Rousseau, a
product of the Enlightenment, was aware of these developments. What differentiated him from his contemporaries
was his contempt for knowledge, and his strong conviction of its uselessness in explaining the individual's political
conduct.

An appropriate title of the above passage would be ____. [Question ID = 13927]

1. Rousseau - an enlightened philosopher [Option ID = 25707]
2. Human as a reasoning being [Option ID = 25708]

3. The age of tutelage [Option ID = 25705]

4, Age of reason [Option ID = 25706]

Correct Answer :-
» Age of reason [Option ID = 25706]

2) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of ideas in Europe. It
was described as the liberation of man from self-imposed tutelage. ‘Dare to use your own understanding,’ is the
motto of Enlightenment. Self-thinking was to seek the highest touchstone of truth in one's self, i.e. one's own
reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of philosophical
speculation, but agreed on many fundamental issues. These issues includes placing indomitable faith in the idea of
progress, the need to apply scientific methods, and perceiving reason to be the best guide available in conducting
life. The basic idea underlying all the tendencies of enlightenment was the conviction that human understanding is
capable, by its own power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering it. Rousseau, a
product of the Enlightenment, was aware of these developments. What differentiated him from his contemporaries
was his contempt for knowledge, and his strong conviction of its uselessness in explaining the individual's political
conduct.

The meaning of tutelage is ____. [Question ID = 13928]

1. To attain scientific temper [Option ID = 25712]
2. An act of guarding or protecting. [Option ID = 25710]

collegedunia:s

India’s largest Student Review Platform



3. To achieve mastery [Option ID = 25711]
4. Incapability of reasoning. [Option ID = 25709]

Correct Answer :-
« An act of guarding or protecting. [Option ID = 25710]

3) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of ideas in Europe. It
was described as the liberation of man from self-imposed tutelage. ‘Dare to use your own understanding,’ is the
motto of Enlightenment. Self-thinking was to seek the highest touchstone of truth in one's self, i.e. one's own
reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of philosophical
speculation, but agreed on many fundamental issues. These issues includes placing indomitable faith in the idea of
progress, the need to apply scientific methods, and perceiving reason to be the best guide available in conducting
life. The basic idea underlying all the tendencies of enlightenment was the conviction that human understanding is
capable, by its own power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering it. Rousseau, a
product of the Enlightenment, was aware of these developments. What differentiated him from his contemporaries
was his contempt for knowledge, and his strong conviction of its uselessness in explaining the individual's political
conduct.

Rousseau had contempt for knowledge and reason because ____. [Question ID = 13925]

1. It cannot explain individual’s political conduct. [Option ID = 25698]

2. It does not liberate man from science. [Option ID = 25699]

3. It does not allow humans to have mastery of the world. [Option ID = 25700]
4. It does not allow for complete comprehension of the world. [Option ID = 25697]

Correct Answer :-
« It cannot explain individual’s political conduct. [Option ID = 25698]

4) Read the following passages and answer the questions that follow.

The Enlightenment is an intellectual and philosophical movement that dominated the world of ideas in Europe. It
was described as the liberation of man from self-imposed tutelage. ‘Dare to use your own understanding,’ is the
motto of Enlightenment. Self-thinking was to seek the highest touchstone of truth in one's self, i.e. one's own
reason.

The Age of Enlightenment was a period when thinkers did not establish any particular mode of philosophical
speculation, but agreed on many fundamental issues. These issues includes placing indomitable faith in the idea of
progress, the need to apply scientific methods, and perceiving reason to be the best guide available in conducting
life. The basic idea underlying all the tendencies of enlightenment was the conviction that human understanding is
capable, by its own power and without any recourse to super-natural assistance, of comprehending the system of
the world and that this new way of understanding the world will lead to a new way of mastering it. Rousseau, a
product of the Enlightenment, was aware of these developments. What differentiated him from his contemporaries
was his contempt for knowledge, and his strong conviction of its uselessness in explaining the individual's political
conduct.

The basic assumption of the enlightenment age is ___.

[Question ID = 13926]

1. Humans have scientific understanding of the world. [Option ID = 25703]
2. Humans are self-thinking individuals. [Option ID = 25702]

3. Humans are capable of rational choices. [Option ID = 25701]

4. None of these [Option ID = 25704]

Correct Answer :-
« Humans are capable of rational choices. [Option ID = 25701]

Topic:- DU_J19_BA_HSS_T6_Eng_Opt

1) Read the following passages and answer the questions that follow.

In 1906, South Africa, under the leadership of Mahatma Gandhi, conducted a massive struggle against racial
discrimination. In the beginning, Gandhi used the term “passive resistance,” this phrase gave rise to confusion and
was considered as the weapon of the weak. Gandhi, thus felt a need for an appropriate word fi ew kind of
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resistance and announced a small prize in his weekly. Shri Magnalal Gandhi suggested the word “"Sadagraha”
meaning firmness in a good cause. Gandhi felt that it does not represent full meaning. Gandhi corrected it to
‘satyagraha’ which literally means insistence on truth or the pursuit of the truth.

The word satyagraha is of Sanskrit origin. It is a compound word formed of ‘satya’ and ‘Agraha’, satya means truth
and agraha means holding fast, adherence, insistence. Thus the word satyagraha means clinging to truth, holding
fast to truth, insistence on truth or firm adherence to truth. Satyagraha is the law of love. It is not to destroy or
harass the opponent, but to convert or win him over by sympathy, patience and self-suffering. Satyagrahi hates all
evils and will never compromise with it; he approaches the evil-doer through love and realization. Gandhi evolved
satyagraha in South Africa and later developed and widely used it in India.

Why did the term "passive resistance” lead to confusion? [Question ID = 13931]

1. Because it taught people to aggress. [Option ID = 25724]

2. Because it was a weapon of the weak. [Option ID = 25721]

3. Because it emphasized a struggle with love. [Option ID = 25723]
4. Because it was used unsuccessfully. [Option ID = 25722]

Correct Answer :-
« Because it emphasized a struggle with love. [Option ID = 25723]

2) Read the following passages and answer the questions that follow.

In 1906, South Africa, under the leadership of Mahatma Gandhi, conducted a massive struggle against racial
discrimination. In the beginning, Gandhi used the term “passive resistance,” this phrase gave rise to confusion and
was considered as the weapon of the weak. Gandhi, thus felt a need for an appropriate word for the new kind of
resistance and announced a small prize in his weekly. Shri Magnalal Gandhi suggested the word "Sadagraha”
meaning firmness in a good cause. Gandhi felt that it does not represent full meaning. Gandhi corrected it to
‘satyagraha’ which literally means insistence on truth or the pursuit of the truth.

The word satyagraha is of Sanskrit origin. It is a compound word formed of ‘satya’ and ‘Agraha’, satya means truth
and agraha means holding fast, adherence, insistence. Thus the word satyagraha means clinging to truth, holding
fast to truth, insistence on truth or firm adherence to truth. Satyagraha is the law of love. It is not to destroy or
harass the opponent, but to convert or win him over by sympathy, patience and self-suffering. Satyagrahi hates all
evils and will never compromise with it; he approaches the evil-doer through love and realization. Gandhi evolved
satyagraha in South Africa and later developed and widely used it in India.

Consider the following statements regarding Satyagraha and choose the correct option.

i. Mahatma Gandhi coined the word Satyagraha while living in South Africa.

ii. It means speaking and asking others to speak the truth all the time. [Question ID = 13930]

1. Only ii [Option ID = 25718]
2. Bothiand ii [Option ID = 25719]
3. Only i [Option ID = 25717]
4, Neither i nor ii [Option ID = 25720]

Correct Answer :-
« Neither i nor ii [Option ID = 25720]

Topic:- DU_J19_BA_HSS_T7_Eng_Opt

1) Read the following passages and answer the questions that follow.

Some people are known to be born leaders. The quality runs in their family; it is in their genes. Others are inspired
by such people and work upon embedding this quality. Some fail at achieving it; others are successful in attaining
it through continual efforts. While leadership is a powerful quality, leaders possess various other qualities in
addition to it that make for their popularity. Some of the qualities of a good leader are honesty, communication,
self-confidence, transparency and patience.

Honesty is one of the main qualities of a leader. A leader leads by example. So, if you want your team to look up to
you, have faith in your ideologies and follow fair means in the tasks you assign them, it is imperative for you to be
honest yourself. A deceitful person may attract people by way of manipulation; however, he will soon lose his
credibility. A leader does not think of himself as superior to you and thus does not believe in maintaining a
distance. He rather ensures a flow of two-way communication to share ideas, discuss issues and maintain a cordial
relation. The level of self-confidence leaders possess is impeccable. They are sure about themselves and know
exactly how to put their point across to inspire their audience. Good leaders also have confidence in their team.
Good leaders do not hide facts or plays games. They maintain transparency while dealing in both personal and
professional relationships. This is one of their traits for which they are highly trusted and respected. A person who
is impatient loses temper frequently and can never qualify to be a good leader. Possessing patience is one of the
main keys to becoming a good leader. Only if a person is patient can he understand the mistak hers and help
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them evolve.
An honest leader . [Question ID = 13934]

1. is credible to its followers. [Option ID = 25735]

2. is deceitful to its followers. [Option ID = 25734]

3. believes in one-way communication. [Option ID = 25736]
4. is superior to its followers. [Option ID = 25733]

Correct Answer :-
» is credible to its followers. [Option ID = 25735]

2) Read the following passages and answer the questions that follow.

Some people are known to be born leaders. The quality runs in their family; it is in their genes. Others are inspired
by such people and work upon embedding this quality. Some fail at achieving it; others are successful in attaining
it through continual efforts. While leadership is a powerful quality, leaders possess various other qualities in
addition to it that make for their popularity. Some of the qualities of a good leader are honesty, communication,
self-confidence, transparency and patience.

Honesty is one of the main qualities of a leader. A leader leads by example. So, if you want your team to look up to
you, have faith in your ideologies and follow fair means in the tasks you assign them, it is imperative for you to be
honest yourself. A deceitful person may attract people by way of manipulation; however, he will soon lose his
credibility. A leader does not think of himself as superior to you and thus does not believe in maintaining a
distance. He rather ensures a flow of two-way communication to share ideas, discuss issues and maintain a cordial
relation. The level of self-confidence leaders possess is impeccable. They are sure about themselves and know
exactly how to put their point across to inspire their audience. Good leaders also have confidence in their team.
Good leaders do not hide facts or plays games. They maintain transparency while dealing in both personal and
professional relationships. This is one of their traits for which they are highly trusted and respected. A person who
is impatient loses temper frequently and can never qualify to be a good leader. Possessing patience is one of the
main keys to becoming a good leader. Only if a person is patient can he understand the mistakes of others and help
them evolve.

Consider the following statements concerning leaders and choose the correct option.

i. Leaders are born.

ii. The five essential elements of a good leader are honesty, communication, self-confidence, transparency and
patience. [Question ID = 13933]

1. Both i and ii [Option ID = 25731]
2. Only ii [Option ID = 25730]

3. Only i [Option ID = 25729]

4. Neither i nor ii [Option ID = 25732]

Correct Answer :-
« Neither i nor ii [Option ID = 25732]

3) Read the following passages and answer the questions that follow.

Some people are known to be born leaders. The quality runs in their family; it is in their genes. Others are inspired
by such people and work upon embedding this quality. Some fail at achieving it; others are successful in attaining
it through continual efforts. While leadership is a powerful quality, leaders possess various other qualities in
addition to it that make for their popularity. Some of the qualities of a good leader are honesty, communication,
self-confidence, transparency and patience.

Honesty is one of the main qualities of a leader. A leader leads by example. So, if you want your team to look up to
you, have faith in your ideologies and follow fair means in the tasks you assign them, it is imperative for you to be
honest yourself. A deceitful person may attract people by way of manipulation; however, he will soon lose his
credibility. A leader does not think of himself as superior to you and thus does not believe in maintaining a
distance. He rather ensures a flow of two-way communication to share ideas, discuss issues and maintain a cordial
relation. The level of self-confidence leaders possess is impeccable. They are sure about themselves and know
exactly how to put their point across to inspire their audience. Good leaders also have confidence in their team.
Good leaders do not hide facts or plays games. They maintain transparency while dealing in both personal and
professional relationships. This is one of their traits for which they are highly trusted and respected. A person who
is impatient loses temper frequently and can never qualify to be a good leader. Possessing patience is one of the
main keys to becoming a good leader. Only if a person is patient can he understand the mistakes of others and help
them evolve.

From the above passage which of the following conclusion can be drawn? [Question ID = 13935]

1. A good leader always has self-confidence. [Option ID = 25738]
2. A good leader inspires others. [Option ID = 25740]

3. A good leader is always patient. [Option ID = 25737] -
g collegedunia:s
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4. A good leader is hard to find. [Option ID = 25739]

Correct Answer :-
* A good leader inspires others. [Option ID = 25740]

Topic:- DU_J19_BA_HSS_T8_Hin_Opt

1) HANAPR H Gfad HIA aTd Xeg HI T Had 82
[Question ID = 13937]

1. gg=g N [Option ID = 25745]

2. Ysg 14 [Option ID = 25746]

3. {fGEITE! |t [Option ID = 25748]
4. fawrardt Ay [Option ID = 25747]

Correct Answer :-

. awmardt §1Us [Option ID = 25747]

2) 59 T9™ # ST U WYt giaT @ 39 I 91 AT HEd 872

[Question ID = 13938]

1. gdifg [Option ID = 25750]

2. & [Option ID = 25752]

3. 3{eIYTG [Option ID = 25751]
4. TYLY [Option ID = 25749]

Correct Answer :-
« g [Option ID = 25752]

3) JERU F YR W ‘I BT IHRU VT . [Question ID = 13942]

1. G [Option ID = 25766]
2. & [Option ID = 25767]
3. %39 [Option ID = 25765]
4, e [Option ID = 25768]

Correct Answer :-
« dlcied [Option ID = 25768]

4) STETN T A B! § [Question ID = 13946]

1. gHd@ara [Option ID = 25781]

2. Yga&IaIe [Option ID = 25784]
3. fawrafaaiydare [Option ID = 25783]

4. TWBTEYHATR [Option ID = 25782]

Correct Answer :-
. fowmrfdeiydara [Option ID = 25783]

5) 9, W, BT =R L)1 o [Question ID = 13943]

1. AT [Option ID = 25771]
2. EdIs3d [Option ID = 25770]
3. 3159 [Option ID = 25772]
4, %34 [Option ID = 25769]

Correct Answer :-
« <dIs3d [Option ID = 25770]

[ ]
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6) ‘W TR gl a1 i’
[Question ID = 13944]

1. g8 a1 €1 7€l § [Option ID = 25776]
2. Ug 91 gl § [Option ID = 25773]

3, Y8 919 U a8 71e7d & [Option ID = 25774]
4, g 91 qd-1 1 P ¥ T1ed & [Option ID = 25775]

Correct Answer :-
« Yg 9159 Wel g [Option ID = 25773]

7) “EFU’ g § S AT THY 8?2
[Question ID = 13939]

1. f§7 [Option ID = 25755]

2. & [Option ID = 25754]

3. %Y [Option ID = 25756]
4, FHYRY [Option ID = 25753]

Correct Answer :-
« &1 [Option ID = 25755]

8) el & GRT S Ueilfd §idl & 3 P8d ©... [Question ID = 13941]

1. 34 [Option ID = 25763]

2. ¥&d [Option ID = 25762]

3. d1Y [Option ID = 25761]

4. 30 Y P13 8] [Option ID = 25764]

Correct Answer :-
« 31 [Option ID = 25763]

9) ‘it URYH HXT 98 HA T ___ € [Question ID = 13945]

1. TXAITE [Option ID = 25780]
2. Taf%darea [Option ID = 25778]
3. Hegrdddrdd [Option ID = 25779]

4. GgaIaTRI [Option ID = 25777]

Correct Answer :-

. Af%aarey [Option ID = 25778]

10) WEW___ NI & [Question ID = 13940]

1. TeGH [Option ID = 25758]
2. fag=h [Option ID = 25757]
3. 1S [Option ID = 25760]
4, dagd [Option ID = 25759]

Correct Answer :-
« 3T [Option ID = 25760]

Topic:- DU_J19_BA_HSS_T9_Hin_Opt

1) fFrafafad de o v IR U FTIW S |

Aigarei & 9T g Iafis Bl DA g I MaTS ¢ b g € 78 wgqh faera far S| S & ) A 3961 3
W} geTar sIu | 3u fore fAofg @9 @t uftear & afgensi @ wrfierd 9g@ #) v g1 [oul @1 Fiewd 99 # g aHn
3’|1mwmﬁﬁﬂ%maﬁaﬁmﬁamaaﬁﬁiﬁrqsomm&maﬁwﬁmaﬁné%trﬁm%muiﬁ HE{'-'H’II{HGF'EI




veT B | wigensi & ot B1-BI WHg a9 | I7H ATEAYTH ST HaR §R1 9 W & SHSS & A1 1 3 AU 9 garadl
B 33T A YT A, Do T, ITHT Frarag H31, Fiofy 39 vd 3= ar I & wa ah |

AR WAy & dee arfore Sfa-famst # of wfger va aiferesi @ she sifter far 1w &1 39 iR 9 saeifar
T8I g1 A Afgad sAe arHl & dfera 7 ol €1 e & W1y 8 3rua Sdal &1t TSR HRaraT 9 avad g1 3%
TS § goul & |1y e € 1 1 ghar 81 9HTe A goy 3R afgen gl € gy aiarsdt i B gard €1 3
T # Ut srawiT ot fasfia o8 o) s, o, aififs, snfde siftert g odal &t e @ IFeR! 8 9% 1 S5
frar-fawsl, g1, Iwiel & Areaw 9 39 SFal ) fFRaR 9 & ufd Snee Y81 o] 81 U9 59 PR &t
ATFHIRGT SUASR HIH & e Iury Hdt 3@ | varad, faar-fansf, gur-awes g gt & arey § Sl &1 PR
fawqa o34 gq SINES a1 G|

AdEw B Fh fawg avg @

[Question ID = 13948]

1. F0fg @ P &Ed & WY USRI § Hddal & Uid SITRedl [Option ID = 25792]
2. fofa &9 # et & 1Y ST SUBERY B SHSRT [Option ID = 25791]

3. fufg o1 & T & 91y aRdfd@dr &1 SFBRI [Option ID = 25789]

4, TAvTg oH & &Td & |1y FHEToS fd-Rarsi $1 SHSRI [Option ID = 25790]

Correct Answer :-

. fofg o9 &t e & Oy fYeRY g Fdaal & ufd SR=dT [Option ID = 25792]

2) Fufaf@d e s @ R U FTIWE |

afgers & or 7 Iafied o AP g 983 IS ¢ [ e § 781 aggE e fFar se | s & TR & 9% 94
W} geTar we | 39 fore fAofa @ 9t uftear & Azt & urfierd 9e@ ) Sxd g1 1ol @1 Fiewd 9" # aearg aHn
g | daraa) # afgensi 3 yriierd 9eM & fire so ufawa smreor &) suawyt @ & & 7€ 21 w9 wigen v=y, 9wl vd 3=
yfafairal @) 3w g Iemfae sraw § e YT Fivm & fog @t o1 R @, 99 st Yfe &) awadigds @1
Y1 S T 37 Qe B TR BT & U2, 1Y & WG 6 gd W, - st §ft et 9% @1 wea
yeT B3 | Aigensii & ot D1e-Bie g a9 | I7H ATEAYTH ST HaR §R 9 W & SHSS & A1 1 d ATHAHT 9 Garadl
A T3 A YT AR, Do TR, ITHT Frarag H39, Fiofy 39 vd 3R aR I § wa a9

AR Gy ¥ Ao grafve dfa-faret & of afgen a arfereeit &) she fier Y 7T §1 37 AfteR) $t s=eial
T8 g9 A Afgad sA® arHl & dfera v ol €1 YR & W1y 8 3rua el 1 Wt TFHR HYaraT 9 avad g1 3%
TS § goul & 91y e € 1 1 grar 81 9H § oy 3R afgen gl € fraey afarsdt i @ e €1 S
TS H T a1 &t A iad &3 o s, amfee, e, snfde sifteri @ $dal of 31 § THSRI 8 96| 35
frar-fawel, g1, Iwiel & Aread | 359 TSl 3 fFARaR 9 & ufd S e 381 oRes 81 U9 59 PR Bt
AFSHIRAT SUASR HI & e Iury It 38 | varad, faar-fansf, gur-awes g a1t & arey § Saidl &1 AR
fasga 31 ¥ 9N F 941 B

T} SUawT B Bl 8 ATaS

L. RITTT A BT e

i, IPRI g R-TIHRT RT3 BT JganT

iii. goul & |1y &l &1 ggan

e & 9 98 T F1 T BN

[Question ID = 13950]

1. g4t [Option ID = 25800]

2. %9d ii 3R iii [Option ID = 25798]
3. %ad i 3R jii [Option ID = 25799]
4. %ad i 3R ii [Option ID = 25797]

Correct Answer :-
« 4! [Option ID = 25800]

3) Fufafed dEivHI U IR UAT FTIWWE |

qigana & T9or g Iaiis Bl DA 2 9 avTS ¢ b g € 78 wgge fera far S| S & ) & 3961 3=
W} gerar WY1 3w e fAofa a9 3t uftear A afgaret 3 urfierft 9em 3t oeva 81 goul @t wiewma ¥ § aqara amn
BT | Uemaal & wfgensit #t uriiert g™ & e 50 ufewra smreur 9t srawyt af #X & ¥ €1 I Afgen u=l, Sewl ve o
yfafaRra) $f qou gur Iefae g § ot yftret Frum ¥ R @t o1 Rar 8, a9 o YfreT &) ywadgds @
&1 & T 9% Ge F1 AR T8 § IS, Y g AT 61 U9 WHRY, R-TReR TRl 3t fraee 3% @1 W
weH 3 | Afgensi & ot Be-8ic IHg a9 | I8 MAIYTH BT HAR N T R & STHBTA & 1Y &1 3 ITHAHT T yargal
B FoPT A HTT A9, To1 T3, STHT Fbarag s, Fiofa 89 td 3= ar v & wad a1

TR Sy & dow armfere Sfa-framst # oft wfger va aiferesi @t sRe sifter fow 1w 81 39 sifteR) 9 saeiar
T8 811 A AiRed 3Fe vl § dfra v Wl 1 e RY & T1Y €1 3uA wdan) 3 W ISR HIErT S aS 81 I
AT § YUl & A1y e € S 1 giaT 8 | THS A 7o 3R Afger a1 g1 faes uared mELRLEard 81 g
HTe # U et &1 faefia &3 o s, amnfore, aifife, snfde siftrer) a sl @1 1w 9 Té"*g)éduniaz
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frar-fawel, 9wt Twiel & Areaw 9 359 S al B fFARaR 9 & ufd Snee 381 o 81 U9 59 PR &t
SHSTIRAT SUed B P forT IuTg Sl Ig | Taryd, f[aR-fawsl, ur-aa 9 9t & Ared | SHe1idl o1 AR
fawga o34 gq SIS a1 B |

Afgarsl 1 BIe-Bie Y a1 H Al ge)f W far-fausf & «r @y g2

i STAfayT

ii. TTH GHT/TAT0d] B d6@ | HIT a4 A Aol a9t emarst &1 fae™

[Question ID = 13949]

1. 378 ¥ H13 e [Option ID = 25796]
2. %4 ii [Option ID = 25795]

3. %dd i [Option ID = 25793]

4. i 3R ii ST [Option ID = 25794]

Correct Answer :-
« i 3R ii EHY [Option ID = 25794]

Topic:- DU_J19_BA_HSS_T10_Hin_Opt

1) fafafad dEiT S o SR U FTITWE |

YR PR & AT AU APTH #3169 gRT U STdHH Afga THRSH IamdT o J87 ¢ st rauron 1986 &t =% fRuan
WoITeRt ¥ IUS 81 3 FTAHH T YW Se,¥4 HHUR, dfud, = avf #t afgarsi g afereret &1 fRien 9@ uga g s
%[sﬂmﬂimﬁr&naﬁwaﬁﬁé@%ﬂmﬁr&nmmﬁmw%l s9H ARtard! 99 &1 fae,
@Y F el au1 Arfore -3 gef W gue AR wvar aur ammfoe seHifae sraw A aftaret #t urfierdt 9 gway
1 wRadT | e far mar 81 Afgar guren e uga vd Iuafcy F & § dfe SavTa &1 PRS0 St 81 39HT
Iexg gty Afgarsit, fadives amferes, snfde = @ Ued) ve 9fta afgarsi & 59 alg a9 § 5 3 3rav-yeT v
3R srefayry &t Feit A wuwmre A g 9@ iR uer wrifiore Afa-Ram & favs @ siav o= s &t van
& fore wud o1 9& | gdu & wften Taren srdew 3w & 11 Il § "arferd fear o ver 8, frd Swws Wt ue B
RIS I H Ug BTUHH 6 foral fegdt, N, A-iiare, STRERM, Tutad 9 $uH g TR & 21 RAeaas! & gamar o @1
¢, foraR 2047 niTal 9t Afgad arvf=e 8 w8 &1 Afger Turen srfew 3 Sws $t anfto aifarst # v v faar @ w@d
B AT BT TUT YT eHarsii S gHgH? Afgarsi & f@a & e 39T Uit #31 & forw | srdsy 7 urdior afgeansi &1
39 UPR SN[d B34 BT A {57 § i 3 3re 59 9 eR| &) 9wy 9& | wiger wren gg o1 ariior &= # wiger gt
& R, wfgen wrerar 9 Rien, wea fRfa, 37& snffe awfdaewo, Jw-ifos gewifia, fafte werar a 3=
SrderAdar & faer & g &1d & W R

TIATH W AgET THRST IES &1 Aigarsi & fore a=ifeas v 1 ATend 59 741 g1 &1 &1 PSR uriior =1 9 ugaq
2 STRES YT ATANT FRT AfFEAT HHRSN IWRIES &1 994 fHar 911 39 srdewn 3t fafkry suafr ar o aed 81

39 STPH & JEI IL &

. PR, aﬁaaﬂaﬁ#%maﬁﬂaﬁaﬂaﬁaﬁﬁ&naﬂuﬁﬁﬁ@am

..wﬁmﬁ&nmm

iii. ANTard Ou &1 faera

iv. TG & EI DI SGgaT BT TS qg| P wrufirwarn

o & | Wl Fe &1 999 B

[Question ID = 13953]

2 9d i G-ﬁ? jii [Option ID = 25809]
3.%ad i, i 3R iv [Option ID = 25811]
4. Had i, ii 3R iii [Option ID = 25812]

Correct Answer :-
« &ad i, i 3R iii [Option ID = 25812]

2) Fufafed dEuH ug R UM FTITWE |

YRA REHR & GHd A1 @™ H3109 §RT UF ST Afean GHRSIT IaTdn of Y67 € fora®! auRvm 1986 &1 -3 fRram

yomelt § U 81 39 FTAHH BT GBI Ie;G HAWR, dfq, e anf 1 afgensit a sifaerei @1 fRien a@ uga A s

81 39 FrdwH & Siava fRian &t sarue sdf & @ gu snaeive Rian o1 waraw fFar mar @1 gud atard wa &1 e,

@4 ¥ gel quT Tere- e e W) quw fAefa o1 aut armiie IeHifae saawn | Afgensi # yrfiert 9 gwav

1 yHEdT & i far mar 81 Afger garen Afée uga vd Suafey b & § Afe SfavTa o1 R Sedl g1 SH@T

Iexg grHior Afgansit, faRiver amfers, snfde v & et vd d9fa afgarsi & 59 alvg a9 § 5 3 srav-yeT us4

3R TAFIYT Y HH SRAY THwASH @ S T MR HAPR AT Af-Rar & s TS g o 3f&da o1 3an

& forg wud 7 9% | adw= § wiger GHRen Srwe 3 & 11 Iwal A "arterd fhar o weT €, R S o T g

IIRIES 7 7 8 S1dH 6 forall fegdt, dish, Aftarer, SR, durad @ Suw Ris TR & 21 RN = ‘Eg@duniaﬁ
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2, R 2047 niidl # afard arvfa 8 @) &1 aften aren srdfed A IwrEs 3 urivr gitarst $) v g9 foar @ w@d
B A BT YT YT AT DB THSH Afgarsii & fod & fore 39@ I &1 & forw | srdww A urdtor wigeren &
9 PR W] $3 &1 A fhar g i 3 3= 5@ 9 Sifrer) &) 9ws 9 | Afgar gursn gg srd andtor &= # wfger S
& fawar, afee warar 9 Rran, @Ry Rfa, 39F snfdfe wufeaso, Jeifae eyl fafte aerdr g 9@t
Hrdamdar & faeTg & e o1d o3 I8 21

gdaT= ® wfgar guren Swres 1 ufgaret ¥ e axifeasor o1 arenw 59 T 31 ;I @1 ARReR ardfior & 9% ugem
2 STRES YT ATANT FRT AfFET HURSN IWRIES &1 994 fHar 911 39 srfww 3t falkry suafr o o 9w 21
Aied THREN STHH ARE v &1 Far By S ¥ 83 § ol 22

[Question ID = 13954]

1. Qiféis Iuafeds & &= [Option ID = 25815]

2. Qfes ugT & 1Y SIFR=dhal & &3 [Option ID = 25816]
3. Qfé ugd & & [Option ID = 25813]

4. Qe Ugd 9 IUdAf & & [Option ID = 25814]

Correct Answer :-

. Xfé% ugd 9 Iuafsd & &7 [Option ID = 25814]

3) Fufrfea dEiT S U IR U FTIWE |

YRA RPR & A TATY f[aPI #3109 §RT Uh ST AfeaT THRSIT IaTdT o 38T © forae! SayRUm 1986 H1 =T fRram
yorelt ¥ IU B 1 59 FrfHH BT GBI IR FHwR, dfa, FeF ot a9 afkens @ aferesi @ Rien 9 vga gfifia s
1 39 FTdwH & iatfa fRian & v syt § @ gu snasive Ruan o1 waraw fFar war 81 39 aRtard Wa &1 e,
4 & Ye| ad1 grArfore-3nfiie qg R aws faefya s3ar aur amfoe weifae saw # afgarst 1 ynfiert 9 gaau
&I war & nfe fFar war 21 witer guren e uga vd Iuafsy & & & dffre siavra &1 fFRTeru st 81 39T
Ie=yg gt Higarsi, fARvey amfere, snfde wu & fUsst vd dfud afgarst & 59 g 911 € % 3 sravr-yer usH
3R SrerfayT #t HH SRft THwEsi @ o 9@ iR gEaen amme Afe-Raret & favs @3 giov o sifSra ot 3an
& fore ud &% 9F | ada= A wfgen varen ey 3w & 11 Tsa) A Sarferd fhar @ 81 8, R s ot te 2
IWIEE 37 A g8 1w d 6 el Red, N, Aare, SR, durad g Fuw Rig TR & 21 Aerags) § Tamar o1 @
g, ora® 2047 wiial $t Afgart et 8 81 &1 At guren $riwd 3 IWwrEs it yritvr afgensit @1 ue w9 fear 8 wd
B AT BT TUT T erarsit o1 Iragre: Afgarsi & fga & e 3961 Uyt #31 & forw | srfsw 2 urdtor afgearst &)
39 UPR SF]d &4 &1 YaTH a1 € & 9 3 g9 7 freRl &) 9ws §d | Afge gHren ug &rd ardtor &= § afger i
& fawar, afgar werar 9 e, g Rfa, 39 anfdfe axrfeaeo, Jetfae geyii, fafte arerar g sa@t
Hrdemdr & faera & e &1t #3 36 2

qdaT ¥ Afga HRel SWrEs &1 ufgars & e axifeas v o1 aread 99 741 8 | A1 &1 ATUSR JrHivr & 9% ugaH
T SURIES GEAT TN §RT AfgaT THRSHT SARIGS &1 99 a1 o1 59 S1ishd 3t [aR1y Iuafas A o gl 21

e B Feh vy o @

[Question ID = 13952]

1. 3d-fayr ¥ gf& [Option ID = 25808]

2. Afgdr THRET RIfaa®ur [Option ID = 25805]
3. AigEr YHRE HRIGH [Option ID = 25806]

4, AigaT3fi &1 faH™ [Option ID = 25807]

Correct Answer :-
« Tfgd YHREAT HTHH [Option ID = 25806]

Topic:- DU_J19_BA_HSS_T11_Hin_Opt

1) Fafafa e H 1E R UM FTITWE |

oforar & 318 ot o 321 8 @ o weT € Awidiet aur Ayl e @1 U |9 9Hy a@ e R @ Srfe = ok WRa
3 foran 31 Mg, o9 siaRiwity day damfis Smavor & TERE 81 gF 3, ITF! GHINE & 91¢ YR 3R T 31 I8 Te9T
& W THY @ P 39 argn fFa agad fay aRewy ar oy 3 & 91y 399t aradta @t afraftaar w ik T8 8
Hifead Gy & fues & 91¢ & Ugd o¥® A 9ia ¥ 1 TP gHaE 3mn A ufdedt gfrar § svrer &1 =i 1M & e
3rfveT ¥ fdea far ut, a9 pufa e deaf¥ 3 YR & A1y ifagd g & faiy Gdui 1 fd g cmvrg 9t At &
U W THTE B 3071 98 $3R AT 1990 F I & Sifaw wwg A T & Fyid a &1 go fF ufdh =0 & Ty o-
TorHifae wfegfear 2fta g & a1 oft warw 8 g5 81 6 WS, 2000 F ot yfe A Ug HHTAH & HEH & iR € URa
B YU I P 3R FrRe UrfierR) wr AT Siuunus uR g5 aeR B Sl ¢x F I Y-IeHifae Jgaiil & U H
Hatl &1 giied faan

pufa S i & gRT HRA-F4 Hay ) faeiefar ¢ &1 SR O

[Question ID = 13957] ‘
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1. ¥ YaiY 3fd ATHBRI Tl A1 [Option ID = 25826]

2. 3 §aY fdgg @1 (2 & R R U1 [Option ID = 25828]

3. 4 HaY UidH & ¢ & 1Y Hdbedl uelkid &3+ gq 31 [Option ID = 25827]
4. T FaY I: Tifel GHW HR Fabd d| [Option ID = 25825]

Correct Answer :-
o U GaY g: Mifd AW HR Gabd U1 [Option ID = 25825]

2) FafafeadEi s @ iRy FTIW |

ofar & 3iE ff o 331 Y @ o wat &t awidiet aun asftgul wael &1 U |9 9wy 9@ siig o @ Snfes w9 ok WRa
= o 31 Yoy, 99 siarToita Way dumie Smavor @ AeRe 81 99 4, IWS! GHIW & 916 YR 3R FH I 98 Ag9qd
o T Gy @ % I a1 f3d sead fay aiesa a1 o 331 & 91y 391 arasita 3t sfafiaa w Rk T8 2
Wfaaa ¥ & fawed & 91g & 1gd oUe # 9d 4 1 TP SgHadH men # ufdndt g # ek @1 v 1A F e
3T | fraea far ut, a9 wgufa Sifve Aeafa 3 wRd & a1y \ifaga g & Ry d@&ul @1 Ha gs coa 91 B &
U § FHTE X fUTI U5 $IR 36U 1990 F EF & 3ifew Gvg # =9 & "yid a1 B garm 1 ufded = & 9y of-
eHifee afagfgar 2 g & arg o wura E §E 71 6 WS, 2000 # 4t yfaw A ¢ JHTe & 7 & iR & uRa
@1 UYH g B 3R Wi urfigRt w AfeerRie eiwonus wR gvarer #R gl ¢X & i Yo ifae Jeaifii & wu o
HaYl T e fohar

AT 39 A A 5T ugq W 4fis @ S w1 R?

[Question ID = 13956]

1. URd - ¥ P § qeydr & ugyTd AT [Option ID = 25824]
2. YRd - 9 ga¢ # ufegd-iadr [Option ID = 25822]

3. HRd - ¥4 Y&y T Sfeedr [Option ID = 25821]

4. YRd - 9 &y T IdR-dg1d [Option ID = 25823]

Correct Answer :-
« YRd - ¥9 Hgy & gRac-adr [Option ID = 25822]

3) Fufafad dEw o 0@ iR Ui STITWE |

ofrar A 31 ot o 321 1Y & R Tar ) Aerdiet qur Aol weel &1 v @ gHy 9@ e Rrar @ S w1 iR WRa
3 foran 31 fags, 99 siRiwity Say damfis Smavor & TeRE 81 9F ¥, IUS! GHINE & 91¢ YR 3R &9 31 I8 Te9T
& § T @ P S a1 fRd agad fay afvewy a1 o 33 & 91U S99 aradta @t sifrafiraar w ik 38 2
Aifead Hu & fged & 91¢ & Ugd U H 9d T 1 TP FHag I # ufdedt gitrar # SRR &1 R uH F g
3afveT ¥ frage far ut, a9 wpufa SiRE deafia 3 YR & a1y Sifdga g & iy deei o) 9id g cova 3t A &
U § AT F f3UTI U8 $3R U 1990 F P & Jifaw awg # =9 & "y a1 Y gar b ufdeh =0 &y of-
Tt ufegfear 2fta g & a1 oft wara 8 g€ 81 6 7S, 2000 A ot gl A TS HHTER & 7 ¥ iR € WRa
B UYH ITAT B 3R AARE HRfeR 1R efasiae Siuumgs uR gxda1eR &% gl ¢ & a9 Y-Io-ifde Ggaiil & =9 §
el o1 gte faan

&Y 15T & W | 2000 # fFw w0 A Wael F U gair?

[Question ID = 13958]

1. Y0P HFTIGRT [Option ID = 25829]

2. Y-3pdifa & urfer [Option ID = 25832]
3. B ARG g4t [Option ID = 25831]
4. Y-rsi1fde Feantt [Option ID = 25830]

Correct Answer :-

« YTSTIfe FegIl [Option ID = 25830]

Topic:- DU_J19_BA_HSS_T12_Hin_Opt

1) fFafifEd aaia $ ug SR UM H13ITE |

YRIGTY gf&oray & ufa ggdl Tear au1 I/ AP gUrd d IARAT $B 1 8g ddra-! $T gl a4 741 8 s sRu o5 i |
R ¥ ufy SRIYR BT @ g g

TdAgrP! A UdTd gU Fel & A 30 iy Siftrer & ufy Tear ik Temfae wErs & wu # @1 o ve1 @ Ry sRu 3¢ 2w
# TR I FRaR weh faRiedt gt o1 381 81 g & a1e & gRiv A ugd W iftrer uiva warnfore aema gen 8, g
T T o1 38T & {3 U1 uget AR gan ¢ 6 39 werdiu A a9 ar 3, o gdadf arard) wam +f wnfie €, w saern

Y19 US 78T 8| .
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U YHTER-UF # 3UH UF a9 # @ WRNTE ISR GV 3 I4 & Way & ufd Sarast ¢d gu forad § %, “sraafirs
wifaardt /g BTard g gRT 39 UPR 3 g1 &) a1 yay & wq & a1 w1 91y, st ufdndt o udf griu #
oG & aRkiiea d g weT B1”

UF 3 iR &1 A 6 39 R &1 ¥ "eTEU & IraFifa # @d @1 ave Bd 8T 81 RS §d & S U &
AP eSTDIER SATe & UG H “TRIU TP T8 ‘Bics e Uy’ Pt Ubs | ATdT o1 8T 8, Sl gl 3R HT WX 3meia
21 @ Ped § fp g8 S weha 3, o 6 S T e smawity &1 fievds g7 U, & fore Yara- 31 areft fRufa 21
Hevds # wexh faRieh o svam) wifds wisw urdf ad omy gamal # fawrdt g% TRt 9t uidf & wu # faerdt g%, fbg ag
wﬁigw%,Wwﬁwm%wmwﬁ%mwmﬂw#ﬁmm%mmwm
Gl AL |

[Question ID = 13960]

1. GI&UTHY HEq UTq% g1 [Option ID = 25840]

2. Sf&urdY & Yfd GRIY FebTd &I =IdraHl [Option ID = 25838]

3. fagwepfcra=ur [Option ID = 25837]
4. QRIUTG W1 HT Td [Option ID = 25839]

Correct Answer :-

« cf&ury & Ufdl gRU gebTd P d1a-it [Option ID = 25838]

2) Fufsfea aEiuFI @ R Ut FTIWE |

YRIYTY gf&mray & ufa ggdl Tgar au1 I AP gUrd A IARA1 $B A1 8q ddra-! T el a9 741 8 s sRu a8 i H
AR & ufy SHTURY $7 @ g 2

Tiderd! A SaTd gU FEl & % 3 R SiftreR & ufa Tear ik vefae =g & wu | 3 o1 387 § fore R &% 3w
A TR &1 I FRaR uweRh faRid gidt o 38 81 g & 91 & WIv A ygd Mt sftrer wiva aranfore a-ma g 8, g
ugmmﬁ%r%%ﬁwnsﬁmgan%%w%@ﬂﬁsaﬁﬂﬁﬁ,ﬁqﬁqﬁaﬁammﬁm%ﬁwﬁa%,mm
UHTE TS T8 &1

UH GHER-UT H 30 TP a9 H d WURNTd SSRATd! RIY 3MTH ¥4 & Wd¥ & Uid gara-t ¢d g¢ forad & o, “eraaftes
wifaard! 79 BRIAd! HE gRT 39 UHR I Ue13(l &I SHPBId Yoy & U A 1T o1 Aiet, @ ufdndt ok ydf i o
worifa & afited # 8t w1 21~

U 3 RuuiieR &1 791 ¢ fF 39 TSR &1 31 HeTEIU &I Ao # @d 1 ave Bd 381 8| TS a0 & 9 YT &
G SADIEY I-Ta P Vegl A "YRIY TP T3 ‘PIcs oS Uleredy’ B Uhs # SATdT &Y I6T 8, S YUIT 3R WY U mutia
21 3 pga & P gg 37 weTita 3, S 6 I=1A Tad 3rae Aty &1 Aards g U, & Riw Aaras 3 areh Rufa #1
Hevds ¥ wexht faRielt ofiv svam) wifds wisw urdf Tad omy garal # faerdt g3 Rt a3t uidf & wu # faordt g%, fFg ag
T A X ©, WA SHBT gATdl arer o1 fp a8 3@ gueHEl & e w ufody @ 7 ok wfdet & fmfor w Ide @
&1 frgw ] Haret|

w3 3% H TFHIYRY Bt I FARaR weRh faRish 21t 7 & e aror #:

[Question ID = 13961]

1. JSHfde® T8 [Option ID = 25842]

2. JRI41g Heied & Ufd €gadl [Option ID = 25841]

3. JRIUIY SHRHR & Ufd €@l [Option ID = 25844]

4. JRIUTg gfaomdy & ufd agdl 2gar [Option ID = 25843]

Correct Answer :-

« R ISR & Ui T@dl [Option ID = 25844]

3) Fuafrfed aEiT I U IR U FTIW S |

YRIUTY SI&UTay & ufa 9gdl Tgar 94T 39 AP U1 & IARAT T Nl og dara-i1 $T G&T a1 741 § s SR &% o2 &
AR & ufy SHATYRY &1 F@ 951

Tfderd! A daTd gU FEl ¢ [ 38 QR SiftreR & ufd Tearn ik Iemfae T=rs & wu | ar o 387 € g aro &3 320
A SR BT I AR e o gt o 381 81 g & 91e & RI9 7 uga i AR Ufva arfre @ s §, fihg
ﬁmmg%%wmmgm%%wmﬁmm%ﬂﬁqﬁqﬁaﬁfmﬁmmmﬁ%}ww
UHTE US 38T B

U THER-UT § 304 TH aW A 3 WRURATd SeRard TR 3 30 & W & ufd Jara-t ¢d g formd g %, “erafie
wiferardt 79 BitaTd THE gRT 39 UeR &1 a3l & Sraa1iae yay & ©q ¥ 3a1 91 ey, st ufdnd ok udf gRiv o
eI & afttieg o g e 81~

S 3 fowufieR &1 A9 & % 39 YR &1 31 HgTEiu B IeHifa # Fd B avs Ba 61 8| WGP §a $ S9 U &
AEP eSAPIEY a-Ta! P Xeal A "YRIY TP TS ‘PIcs oS Uleead’ B U | STdT ST 8T §, S YUIT 3R WY UR mutia
21 3 pga & fF g 3 Wit 3=, S b S Tad sruemt Aty &1 Hewds AT UT, & e Jarast 3 arelt fRufa B
Hievds # we AR ofik ST wifd® wisH Ul W4 oma g4l # faerdt g% dedt a9t uidl & T s 5%, fPg a8
T A GR 8, Tafh IAPT gATA! arar o7 b 9% 3@ gHerAr! & [ w ufady @ ¢ ok wfed Eﬁl@g’%duniaa
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&1 frgw ary Hare|
gt gATdt graT ot ¥ 98 3@ guaHEl ¥ e w ufady o &ft 9 afewe) & Fmfor w e @ m &1 fHaw ang

[Question ID = 13962]

1. ST Bifed WIsH UTel [Option ID = 25847]

2. TGP HeSTAPBIGR STl [Option ID = 25846]

3. BRAIaTE! ¥Hg [Option ID = 25848]

4. B &IE Ulfcifeadd &1 fAgRYRT [Option ID = 25845]

Correct Answer :-

« XA BIfge wieH uref [Option ID = 25847]

Topic:- DU_J19_BA_HSS_T13_Hin_Opt

1) Pafaf@T e H 1 R TN FTITWE |

YR # WHR B TS 1 3 $ deadddl ol 510 @al S Meafed HRA71 Tt Tg SRR P ad ¢ fF uRa &
fafir urT ® weiRard, W, 9@, Aeard, Srbard dwN o oM E THR & Wd Wd WId §, I 39% aR ¥ AN &1 gited
Y 8 BT AESRI gldl 8 AT ITH HIT Ad &1 U 3 R WR W g A 81 §; 9R-3msy gie! ifieak S-aiR &
aerE a7 # & el ot B1 g3f vk 3, RRvrae e 3R SR HIRd ¥ 39 &5 # @ar rdT 81 A gaiR & ARy
I H QT ST @ 3R ¥ & 3 YT | 9§ ABUg 8] 81 Urd 81 Wa Wat $riwd & dgd 39 @al d @l o fRaawdt
U1 B3 & o S 2R wifa feg amdat ok o &= | il &) srresffa fasar e

9 Iraral, s, Taa A=, U, uRiaeH, urar faftd, faftragy ok gav o $ek @al &t +ff wienfea &
BT T8 R & 3 Wa 9 a1 W, o fyaiT aafdral & e Mg &1 o189 3% 9&d 81 3 T8 UN AST AT
ufaursl &) Tl o= ¢ IFd 81 WeR & R GeA1E IR= FRA1 A1y, St ifUSi S6en &1 #-99d 9eM & 9ry-91y
T +u A +ft STahf g1 39 ave &t G ga & T O 3 oRevd g 8 iR Ue W) a9yt el &7 91 urfledt &
S[ETaT S T dl & | SN BRI 3R THT 5 [l & A1Y-91Y TpaT1 S, P aarsfa (Rartgor), ardeq arsfdr (uddi
R AEfed are) e o Arefie @al & g off 9w &% 9o &1 37 Tl 31 3R 33 ok faesh gar o oA R
AT 81 W §1 TSR] ATTHIRS FHEATE 3R TRPR F1 3R A & o areft g glywmst / s@w avr arvf=a g
39 da | HifEar 3t 73 i o I8 & 1Y Heg B & g 3t 141 gRm|

WPHR Pl WAl & (9P oq B Ul I FHA71 911ge?

1.0} FieTe g1 wIng o9 wled & 91y onfidfe faey oft 9g 1

ii. 4 B IuTAr WP a1 el & Bt uriierRt § Fermr afze)

=4 o dt B &1 997 Y

[Question ID = 13966]

1. G 39 [Option ID = 25863]
2. %qd ii [Option ID = 25861]
3. &dd i [Option ID = 25862]
4. | 3R i GFI [Option ID = 25864]

Correct Answer :-
« i 3fRii GHY [Option ID = 25864]

2) Fafaf@d dE T I g IR U FTIW S |

YRA H TR H ST U1 HId & aeaHe ol ol &g Gl ) Miedried -1 91| Tg SRE S a8 fF HRa &
fafirm urT ® weiRara, W, 9 E, Aeard, Sibard dwN o 31 TER & Wd @d 9Id §, IR 39% aR ¥ AN &1 gitea
€ B TEHRI g1 € U1 ITH URT A B 1 U10: § WY WR R & G 819 8 S8-emgy giet siftiedy s-eeiR &
aerE a7 # 8 el ot ®1 33f vk 3, fRvrae vdw 3R SR HIRA ¥ 31 &5 # |ar rdT 81 A qaik & RYrery
T B WA ATT 8 3R I/ & 3= YN & T Ab g 81 81 urdn 8| Wa Wade $riwy & agd 39 War § a3t et
U1 #1 & fore $EW 2R Rifud fhe S ik o &= & & &) s ffa farar wmem

& rarar, s, aa ¢, F3m, uRiaras, e fafte, faftragw ot Yot 99 8k @4l &t Wt wienfea s
BN $8 W & Y W A1 ardl W, ot e aafemal & e iicied &1 19 & G&d 8 | 3 390 YT AT U=
wfaurait & T8t fa=n ¢ god &1 TWHR B T To 7= HIA! 91T, S ARSI SH I BT H-lad 9eM F ry-a1y
TR ¥u A +ft STahh g1 39 avE & G gaq & T O 9 oRevd g 8 iR Ue Wi ayt Aol & 91 urfledt &
ST ST Tl ¢ | IYNT TR 3 ATHR 54 WAl & ATY-HIY THa1 S13fa1, & Famsfan (Rrearieor), arded argfen (udal
R AEfed are) ofe o8 arefie @dl & g off Faw &% 9o &1 39 Tl BT 3R 3= ok fae=h gar o oA wR

ITH YT Y 72 & | ATHSTR ATTTTIAS JHTTATE 3R TRPR BT 3R A & 9 arelt fa=ita glaursi F sq® @ amwnfa g
3 dgy ¥ Wifsar &1 73 9w 3R IITE & WY HEg HIA & I Smt o= ghmi

AT Bt FEr vy avg §:
gcollegedunlaa
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[Question ID = 13964]

1. AP 9 ST @al & geT [Option ID = 25854]

2. &41g Wl &I 9graT [Option ID = 25856]

3. &1 TR & Wl &I WIfHd T@AT [Option ID = 25853]
4. SRIPY ¥R & Wl DI §e1a1 [Option ID = 25855]

Correct Answer :-
« &l ¥l B S¢1aT [Option ID = 25856]

3) Fufrfed aEiT S U IR U FTIWE |

YRA H TRBR B D10 I1 HId P qeadbal o &1 Bl &) WegTed $1 I1iee | T8 3E B aid ¢ 6 URd &
faftr 4 ® weiRaTd, t, ), Acard, Fhbaa dHE F 3P TR F T A WA 8, W S ar | A & giea
W § P ISR il € 1 ITH U A9 ¢ U @ RITG TR W & Hiftd gia €; S9-3mgd gia! ifUsar SR -TiR &
wERE & ¥ 8 Bl 91l g1 33 veR 931, fFurad uewr 3R IR URd & 37 &5 W T WidT g1 A YA & vy
T H @1 W11 € 3R S F 3 YFT H U A iUg A8l 8 Ul § 1 B SaYH SrieH & d8d 54 @al # ar ot feaeaht
Uer A & fou $EW 2re wifud fee omeet ofiv =g &= & &l &1 siesfia fasar smeem)

9% rarar, s, 2aw ¢, F3W, uRiaias, e fafteT, iftrasy ol Yot 99 ek @l &1 ot ienfed s
BT 9 R & < @A H ard /e, 5t fywai aafeaal & fore ficareT &1 S0 S 9@d 81 3 IT8H U AH (9=
ufarurat &) gt 22 2 god &1 TWER F T TS IR HIAT A1, ot RIS TS BT 7-ad deM & JTY-11Y
ffer ¥u & oft Iuuhft 81 39 e P W18 gaq & T 990 3 9=3d gidl § 3R I8 TR a1 Aol & 3t urfierft &
S[ETaT ST WhdT & | ST BRI 3T THR 51 [l & ATY-H1Y TP a1 ST, TP Farsfa (Rarigwn), Ardeq arsfér (udal
W ATfera are) onfe SR refis @al & e of e w3 g@d 81 379 Tl 1 e 30 iR fAeh gar a8 twm w
ST B T8 &1 ATHBT ATIAAS HHTTATE 3R TXPR B1 3R F & 5 arelt fa<ita gfawrsit ¥ s@s @ amvnf<a g
59 o A Wifgar & 78 S ok ITE & 1Y Hag B & fore St 3 g

Aw iy fre Ty # |er orar 82

[Question ID = 13965]

1. TATTAS [Option ID = 25858]

2. AfOrQR [Option ID = 25860]
3. f&fd®H [Option ID = 25857]
4. YT [Option ID = 25859]

Correct Answer :-

. HYTAY [Option ID = 25859]
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